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(See Fig. 1) Arigid bar AD is supported by two bars BE and CF. Find the maximum allowa
if the displacement of the loaded point D is not to exceed a value of 0.01. (3 D 2L SEE S TE
18 0.01, KR FFFI T P )

(See Fig.2) The truss as shown is subjected to a load # at joint C in the direction of bar AC. Determine
the horizontal displacement of joint C.  (Hint: It is easier if the method of  work and sirain energy is
used. HER:DATHBAMESSEEZ kR 7B 2

(See Fig.3) A cantilever . beam is loaded over the middle half by a uniform load of intensity g = 1
along the length. Use the_moment-area method to find the angle of rotation &, and deflection & , at the
free end B. (DLJJ4E-THITE 1L SKf#)

(See Fig.4) A sender column AC is supported as shown, wﬂth its cross section being a rectangle. ~ Find
the height to width ratio h /b (157 Lh{E)  such that the critical load for Zuler buckiine(P i) of
the column is the same in the two principal planes. Also determine the critical load P, , using a safety
factor(ZZ2ARE) of n=2. o

Note: Use symbols E, A, I, P, etc, denoted in the figures to express the results, it values have not been

assigned to them. (5 RA8 & BE B AR T & S PP BRI S ZE5R)
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